293000 293500 294000 S 295000 295500

5162500 [ e e S

5162000 gl —

5161500 stiies

8 o

Al SELETeReR e T e

e
sl =5

5161000 gt

|
|
|

5160500







'299000 299500 300000 300500 301000 301500

. Byrop MbinbHukoB

MnbmeHb ABONbAHNHCKUI

|
[ws]

0—/—/7._.-/:/0

Byrop Kanmbliukuit

Byrop lNonoBckui }
Knapbuwe 5 et

= o




NnbmeHb Conpartckui




o o o
o o o
Yol o Yol
(2] [o2] [oo]
[Fel 0 0
~ ~ =
o] o] 0




\
|

\ Byrop ConsiHow

1

1

R

?

=
i)
i
o
&
>
®©
%.
m
a
o
=
>,
Lo

{
{




b

aBT., MOCT

x
©
N
a
=
>
©
o
WJ
{8
11
(V]
Q
0
1Y
O,
o

Ypouuwe U




nbmMeHb YMAnMHbIN

(et

e

Ypouuiie UnbmeHb FopLukoBCckuin

Byrop Koposuit
AA14

s S =

Byrop-—FopiKoBCKA §

MnbmeHb BopoHL0BCKUIN

E— 5, 1 60000

5159500

5159000

5158500

5158000




KpacHosipckui

=
o
x
[}
o
o
a
(s}
=
o
o
a
=
o
(@)

5158000
5157500
5156500




1
|
|

aBT. MOCT 4epes3 np“tujoxy Kpuson Bya3al

ot A
= N

"apu.lpﬁﬂgm,'mg‘; a

-t

s\

5 il
;.Teppmqbww‘ﬁ K
A = o




)

L}

"A6noHbka"




5157500
¥ 5156000

Kna’;’iﬁkmﬁie

s
x
a
[°N
L
o
T
o
©
o
z
)
=i
=
T
o
a
>




5156000

5155500

5155000

.

e e
B £
a6y3§ﬂckaq$k.
IR - Uy

= R <&

5 A OFte sl
WGHM Typserko O T
L g

> .

293500

294000

I?ha}:'\Gh e

=

294500 §

295000

295500




Yppqnu.( BanenoBckuin UnbmeHb

|
|

(1)

296000 296500 ! 207000 S 297500 ' 298000 298500

REARAERNN




299000

299500

300000

':l_(‘na,qﬁmu.le

Knap6uile

5
/0/0

300500 301000




= 5155500

5155000

302000 302500 303000 303500 304000 304500




